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Algebra 2: Cummulative Review Homework 3

Solve the equation. Then check your solution.
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Date: ID: A
2x 42 < 30 AND 2X+27 =30
2x < 2% 2x 7 =32
X< A D x> — 1t
e < X< 1Y
Solve the inequality. Graph the solution.
4, |Zx+2|<30
a. =l6>x>14
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Find the slope and y-intercept of the line,

5. 18x+9y=-45 Uy = —1¥x ~ s

1 = —2x —5
a -2 5 ﬂ
1
b. L -5 m = 2
© -3-5 b= 5
d 25
Are the graphs of the lines in the pair parallel?
Explain,
6. y= —-[-x +10
—x-9y=-11

a. Yes, since the slope are the same and the
y-intercepts are the same.

b. No, since the y-intercepts are different.
Yes, since the slope are the same and the
y-intercepts are different.

d. No, since the slopes are different.
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Name:

Write the equation of a line that is
perpendicular to the given line and that passes
through the given point.
- 65 =X Iz

9 = ~Vyx -2

m= "¢

7. —=x—-6y=12;(9,-8)
a. y=-6x-62

b. y=—éx+57

l
C. y=ix- 62 im= &
d =6x-62 2mx+b
{ Y
(9 -Z = 6 (9)+b
Write an equation for the line that is parallel to
the given line and that passes through the given

y=54+b
,b'),;b

point. m= Us g T
9 hove sund
8. y=3x+5(54) s:aﬁgsﬁv——
B
a Y=g y= Mmx+b
5
¢ =—§x+5 Y = 4 +b
Solve.
"7X+2~-' ?)[
9 |-7x+2|=-8 x+2=92
(@ -2 X =
2 -
b. {—2,—1—5} ok -Tx +7—"S’)§
2 2 = 15x
¢ {273} g;mum"”‘o__}ﬁq:ﬁ;
d. no solution
Solve each inequality and graph.
4[x+s] 244
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x45 > 0k X¥5<

@ x>6orx<-l6
x»>b oR X<

b. x>6andx<-16
¢. X>6orx<-14.5
d x>6andx<-14.5
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Solve the given equation or formula for the

specified variable.
11. u=i,fort tu = t\f
! Tt
a. t=f . .
b. t=uf Eus= F
c. (== L= lc_
I A
® L
u
- : = ylp-20
, Mazle m(a—1L) Y p2v
p-20 4 —lb= ‘j_(f‘_:z_“’_)
as 2E=Dz16 s

b. a=y(p-20)+16m

y(p-20}+ 16m

© a="—

yp-200-16m = l(,m_j—ﬂ_(p_g)
G=T e ad

a=le+ ylp 20)
m

d.

13. Find the value of f{4) and g(-10) if {x) = -8x -8
and g(x) = 2x2 — 22x,
2. fl4)=-24
g(-10)=-2208
@ fl4)=-40
g(~10) = 420
c. f4)=80
2(-10)=8
d Ad)=-16
g(-10) =102

fiay = —3(4) -3 = =325 =740

2(-—“;)1 —_ 22—("!'0)

9(-:0) =
= 2010) — (7220)
= 200 +220
= H20
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14.  Graph the function f{x) =| x | + 4. Identify its 15. Find the x-intercept and the y-intercept of the graph
domain and range. of the equation 10x + 20y = 4, Then graph the
O equation.
g a , o 4 lox+20y = 4
C*) % d x-int: lo,ymt 20 -
4 : X-int = Y=20
€ jL; . B . Jox = Yy
FaE 5 T X 10 ( °
The domain of the function is all real numbers. N J BT
The range of the function is - ’J ~int A=
lyz4). 20; . B
b. inf —m i Y ¢
b. x-int: 10°Y int: 20 y

S
320 ¢)

The domain of the function is all real numbers.
The range of the function is

Dly 24} o
c. s
c. x-int: 20,y -int: — 10
& :
The domain of the function is all real numbers.
The range of the function is :
Dly s 4. 3
d . 4 4
l\V' d. x-int: —2—0; y-int: T
- i HE
= .=
The domain of the function is all integers. The : _ D £
range of the function is .
{ly <4} :
16. State whether the given equation or function is
linear. /,..-. .
that
Sfix) = 9x3%+ 5 .
a. Linear g HRas A
b} Not-Linear hamear A
[ N
) Lix)= Qu+S wndd
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